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F1 F2 F3 F4
C1 0,08012 0,45326 0, 80258 0,02444
2 4 9 27
C2 5 5 61 &1
C3 0,577 0,423 0,732 0,268
C4 0,9084 0,2381 0,9596 0,1247
px,v(0,2) = 7= pxy(0,1) =2 pxy(0,1) =& px,v(0,2) = =
pxy(0,3) =% | pxy(0,3) =1 pxy(0,3) =% | pxy(0,3) =+
El | pxy(1,2) =% | pxy(L,1)=f pxy(L1) =% | pxy(1,2) =1
pxy(1,3) =2 pxy(1,3) =13 pxy(1,3) =2 pxy(1,3) =13
cov(X,Y) =2 cov(X,Y) = —= cov(X,Y) = % cov(X,Y) = -
T=:3X, T=3%X, T=2X, T=3X,
E2 T non distorto T non distorto T non distorto T non distorto
MSE(T) =% MSE(T) =% MSE(T) = & MSE(T) = &




